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PROPOSED MODEL
Characterization based on parameters that adjust the non-linearity of the tape under two hypothesis:

a) The electrical current is distributed between the superconducting path, up to the critical current,
and the resistive paths when it is exceeded.
b) The hysteresis in the superconductor can be modelled from an effective resistance in the stabilizer layer.

EQUIVALENT CIRCUIT EQUATIONS OF THE MODEL TAPE CHARACTERISTICS
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COMMON ARRANGEMENTS

.__IF-_'_:rC'J-ﬂ.'.:{ - - il il
i FF.._}I:_;:F__—-"—T_. M g—{:-i:h_ - ?
Multimeter —— — . I o 0
DAQ
W e JJ\ ] e ,F-‘“. ”x
I source ) "'f'_| T IE-I_J-UILL ) . o L =
driver PC driver

RESULTS AND DISCUSSION
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BASIC COMPUTING IMPLEMENTATION (First approaching to the model)
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